50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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USN 16/17TMBAFM303
Third Semester MBA Degree Examlnat}h%, Dec.2018/Jan.2019
Investment Management

Time: 3 hrs. \:;4 :“ 4 :if;g%Max. Marks:80
Note: 1. Answer any Four. questwns Jfrom Q. No. 1 to QNo 7.
2. Question No ts compulsory %
1 a. Whatis NAV? (02 Marks)
b. Unsystematic risk can bev,,rmmmlzed systematlc risk.can | be managed. Discuss. (06 Marks)
C. M)e'qually weighted and value weighted
ol - (08 Marks)
Price at-the end of | No. of outstandmg
yeart shares
60 1,00,000
- 64 1,50,000
72 2,00,000
2 a What 1S R817 (02 Marks)
b. Distinguish Investment and Speculatlon ) (06 Marks)
c. The probability distribution of the rate of return on B arath stock i is glven below :
State of the Economy Probg“pg_hty Rate of Return (%)
. Boom s, Oaol) 16
. Normal 0:50 1T
A Recession % *0.20
What is the Standard deviation of}; return? (08 Marks)
-3 a. What w.,,.YTM‘? (02 Marks)

b. Explam the ways in which, a cempany may rise equlty capital in the primary market.

A (06 Marks)
c. .The following 1nforrnat10n is avaxlable ona;bbnd : Face value : Rs 100 ;
Coupon rate : 12%,p.a: *; Years to maturity : 6 yrs ;  Current market price : Rs 110.
Lo What is the dura,tmlonf; f the bond? Use the ‘approximate YTM. (08 Marks)
4  a. Write any two assumptions of CAPM ‘theory. (02 Marks)
b. Discuss the: factors to be conmdere”‘”d in Industrial analysis. (06 Marks)
c. The closing value of sensex is given below :
| Day | Closing sensex value
1 2795.30
2 2754.95
3 2788.97
4 2812.90
5 2765.37
Calculate Relative strength index of the sensex at the end of day 5. (08 Marks)
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5  a. Briefthe market trends according to DOW theory. (02 Marks)
b. What are the three forms of market efficiency and hbw t ey are tested? (06 Marks)
c. Consider the following information for three mutual finds : A, B and C and the market.

Mean return (%) |-Standard deviation (%) | Beta
A 18 | 1.1
B 15 0.9
C 20 171.2
Market Index 17 .| 1.00
The mean risk — free rate was 6 perc nt. Calculate the Treynor measure, Sharpe measure and
Jensen measure for the three muttt nds and the market mdex (08 Marks)

6 a. What is duration of the bond? (02 Marks)
b. A portfolio consists of 3. securities 1, 2, and 3. The proportlons of these securities are :
W, =03, W,=0.5 and W3 0.2. The standard dev1at10ns of return of these securities (in
percentage terms) are.: 61 =6 , 0y = 9 and o3 = 10. The correlation co-efficient among
security returns are p12=04,p3=0.6, p23 ='0.7. What is standard deviation of portfolio
return? (06 Marks)
c. The rates of Vreturn on stock A and market: portfoho for 15 periods are given below :

Period |21 [ 2 [ 3 [ 4[5 [617 9 [10 [ 11 [ 12131415

A4 107 15 18 | 14 | 16, | 16 18 4 -9 14 15 14 6 7 -8

oo

14 | 13

12 | -11 | 16 8 7 10

market

portfolio
(%)
What is Beta of stock.»,A?

(08 Marks)

its price?. (02 Marks)
b. The current dividend on an equity share of ABC anted is Rs 3.00. The present growth rate
is SO@ercent What is the: mtrmsw value per share of ABC Limited. If investors require a

return of 16 percent? . (06 Marks)
B Explam the role of SEB (08 Marks)
8 “The returns of two assets under four p0531ble states of nature are given below :
State Qf > of Nature ProbaM Return on asset 1 | Return on asset 2
v 0:10, 5% 0%
0.30 10% 8%
1 0.50 15% 18%
ams ()10 20% 26%
a. What is the Standard devxatlon of the return on asset 1 and asset 2?
b. What is Covariance between the return on assets 1 and asset 2? .
c. What is the co-efficient of correlation between the returns on assets 1 and 2? (16 Marks)
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